
Radio y Diámetro de Ćırculos (G)

Calcule el radio y el diámetro de cada ćırculo.

A=13.854 in2

radio =

diámetro =

A=50.265 in2

radio =

diámetro =

A=81.713 cm2

radio =

diámetro =

A=211.241 in2

radio =

diámetro =

MatesLibres.Com



Radio y Diámetro de Ćırculos (G) Respuestas

Calcule el radio y el diámetro de cada ćırculo.

A=13.854 in2

radio = 2.1 in

diámetro = 4.2 in

A=50.265 in2

radio = 4.0 in

diámetro = 8.0 in

A=81.713 cm2

radio = 5.1 cm

diámetro = 10.2 cm

A=211.241 in2

radio = 8.2 in

diámetro = 16.4 in
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